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Question 1

Question Type: DragDrop

Drag and drop the code from the bottom onto the box where the code is missing to construct a UCS XML API request to generate two
service profiles from the template org-root/is-service-template. Not at options are used

<lsInstantiateNNamedTemplate
don="org-reocot/ls—service—template"
cookie="<cookie>"
inTargetOrg="org-root"

ANSWELiiserarchical= | | >

<inNameSet>

< | ="service-profile-a"/>
<dn value=| | 7>
Questionh2 .
</lsInsta Hﬂantdrtm ln:e}
lestlonzlnype rBrag g
L

-profile-i

KdEIEIIIpEDS:C[E&Img:a:chon function that adds network

engineers to a Webex room to troubleshoot after a monitoring alert Drag
ode is missing in the Python function to add the engineers to the room. Not

all‘options are used: | add profi

Hnl: i




def gather_all (token, room_id, teamMembers):

Question Type: MultipleChoice

“"roeomId™: room_id,
"personEmail®: member

for member in teamMembers:
haadar = {* ®": "Baarsr %s" % token,
Answer: Content-Type™: "application/json™}
paylcad = {

headers=header,

}
(:?lJEEE;tIClzlpgise = requests.poat(“https://api.webexapi.com/vl/membershipa®™,

s werify=Trae)

Print

if response.

™=

("error inviting:"™ + member)

code 500

code

200

status_code adde

json=payload Authorization




container protocols {
description

"The routing protocols that are enabled for this nestwork—-instance.";

list protocol |
key "identifier name";

description

"A process (instance) of a routing protocol. Some systems may not support
more than one instance of a particular routing protocel™;

leaf i1dentifier |
type leafref | e
path "../config/identifier™;
}

description

"The protocol name for the :nuting or fcruarding protocol to be
instantiated®™;

}

leaf name |
type leafref |
: path *../config/name"™;

description

"An operator-assigned identifier for the routing or forwarding protocel.
For some processes this leaf may be system defined.™;

uses network-instance-top;

}

Refer to the exhibit. Which URI string retrieves configured static routes in a VRF named CUSTOMER from a RESTCONF-enabled
device?



A)

freatconf/data/
cpenconfig-network-inst noce:network=-inatances,;
network-instance /=CUSTOMER/protocols/protocol=3TATIC

B)

restconf/data/ietf-in es:interfaces/\

t
interface/GigabitEthe

C)

frestconf/data/\
openconfig-nectwork-instance:network-inscances/
nectwork-inscance/CUSTOMER/protocols/protocol,
STATIC, DEFAULT

D)

'restconf/data/
openconfig-nectwork-instance:nectwork-instances,

network-inatance=/CUSTOMER/protocols/protocol /STATIC




Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

Question 4

Question Type: DragDrop

Refer to the exhibit.



Handling Reguests from Webex

When one of your webhooks & tiggered by an event, Webex will send an HTTP POST 1o the backend &t Message DEIE II-S
Shows details for a message, by message ID.

targetUrl that you've speched The body of the PC 15T well look sometheng ke thes

A

def process_ incoming message ) =
# Get the webhook data
"=

webhook _data

NSWer:

inbound webhook_request.json

y the message ID in the messageld parameter in the URI,

/vl/messages/{messageld}

his

QL

-

2 Detarmine the Teams Room to sand reaply to

room id =

jestlen:5 deta.ls about -he message what was sent.

rameters

geld
Bguered

The unique identifier for the message.

Qudg

messa

stion Type: I\ﬂﬁ'tll'SIe:Choice

message = Teams.mesSsages.get 11".'.'!!-!-!.'3'&_1'1:'

m

T\I\J/o Elasticsearch database serversuserbidirectional asynchronous data replic

The cluster

st meet thése requirements: - e
it in teams.people.me() .id:

nse Properties
htion Both servers accept writes from clients The ¢

The unique identifier for the message.

causes the network connection tb go down between nodes

*The data'must remdin 'Consistent if colnrﬂtmieaﬁohﬂ betWween hodes Tails.

* The' datarmust'be spfeaahgvénly across all nodes’inthecluster.

o ]

WHigh désign dpproach must be used t

0 meetthe féquirements?”

0 viiew e webhook conhguraton of delete the roomld

OOk, L

tld

The unique identiher for the parent message.

The room ID of the message.

O

ptions:

esign




A- Set the initial voting configuration to force a specific node as the master.
B- Scale the master nodes down to a single node.
C- Set the minimum_master_nodes to 2 in the configuration.

D- Add a third cluster node to provide majority votes.

Answer:

C

Question 6

Question Type: DragDrop

Drag and drop the code from the bottom onto the box where the code is missing to retrieve a summary of physical compute resources.
The collected information about the compute resources will be presented in a dashboard to be developed for device monitoring
purposes. Not all snippets are used.



import reguests
impozt json

BASE_URL = "https://intersight.com/api/vl"

AASWET |
payload = {}
headers = |

*Accept': "application/jsen’,

QueEStieFrT-o=":

— [ ‘Digest'T '{{computed-digestil"’

QubstioR¥be Drdgprgiens—datel i

response = :cquas:a.:uquas:[l L uzl,

:rﬁdﬁﬁﬂ’ﬁﬂbﬁ“ﬁ%‘%p@‘ﬁﬂﬁﬁﬂ@lﬁf‘ﬂ& thé&6rdéron the right to ensure that an application fequiring communication to the external

etwark ishosted.on-a.Cisea LCatalyst-2000 switch.

nnnnnnnnnnnn | | ET—— 1

Configure NAT on the host. re NAT on the host. step 1

Mﬁ!dﬂ!m. SrulArer step 2

K

Enable guest shell on the host. el on the host. step 3
Question 8

QUET P TS ST BTSEN i ortGroup on the host. ost. —

Refer to the exhibit.



import requests
import time
import jaon

class Connsction:
def __init__(self, config):
self._config = config
self. session = None
self. retries = 0
self. MAX_RETRIES = 12

def _setupSession(self):
salf. retries = 0
if self._sessicn is Hone:

self._session = requests.Session()
return =

def get(self, url, pnrnm==nunelﬁ
self._setupSesasioni)
resp = self._session.get (self._config.host + url, wverify=Palse, params=params)
if resp.status_code == 200:
return json.loads (resp.content.decode('utf-€'))

aelf. _retries += ]
exp_backoff = (2%%*(self._retries+3)) /1000
time.sleep(exp_backoff)
self.get(ucl=url, params=params)
return resp

A network engineer must integrate error handling tor time-outs on network devices using the REST interface. Which line of code needs
to be placed on the snippet where the code is missing to accomplish this task?

Options:




A- elif resp.status_code == 429 or serf._retries < selff._ MAX_RETRIES:
B- elif resp.status_code == 404 or self, retries < self._ MAX_RETRIES:

C- elif resp.status_code == 429 and self .retries < self._ MAX_RETRIES:
D- elif resp.status_code == 404 and self._relries < self._ MAX_RETRIES:

Answer:

C

Question 9

Question Type: DragDrop

Drag and drop the code from the bottom onto the box where the code is missing to permit network traffic between 10.0.0.0/8 and all
other networks on port 80 for a Cisco Nexus 9000 switch by using the Puppet module. Not all options are used.



[ il *ipvd devnet_acl 42':
ensuUIe => "pressnt’,
zroaddr - |
B3It POt => "any',

ddr => "anv'.
AnsWet:. . = [ |
established x> "erus®,
log => "true’,
precedence => "flash",
eel => "128°',
remark => "DayiNet '
action =
proto => "eep',
}
‘deny'.t's L7, || ‘deny’, | [ cisco_ace

c1::o_nexu=_ace4j

c15:o_nexu=_ace]l 'eq 80',
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